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1. (5 Aazuuw) wudasdunisluszuuitadein (r,0) saldil THiuszuuitinan (z,y)

(sin @ + cosf)* = rsect

wuIAIEBU W = rcosh, y = rsind uaz 22 + 42 = r2 agldnn

A5 1
r?(sin @ + cos 0)* = r? - rsecd
1
in 6 0)]* =r® .
[r(sinf + cos0)]* =r p—"7
[rsin® +rcosf]> = r® - r
rcos 6
1
2— 4._
(y+a)"=r"—
2y +2)* = (r*)*
wly+a) =@+’ #
387 2
1
sin®@ + 2sin 6 cos § + cos? = 1 -
cos
1+ 2sinfcosf =r- T
r cos 6
2
7*(1 + 2sinfcosf) = r* - —
x

(2% +y*) + 2yz = (2 +y*)? - %
z[(@® + 7)) + 2y2] = (2 4+ ¢*)°
zl(z +y)’] = (2% +¢*)°
w(z+y)? =@ +y7)? #



2. (5 Azuuw) witunidgrumiayiusaaavoaidy
2
f(z,y) =3zy +y
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f(x—i-h,y)—f(x,y)

folw,y) = lim .
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i By +y] — Bry + ¢
h—0 h
_ 3ay + 3hy +y? — 3ay — 3P
= lim
h—0 h
i 2
T a0 h

=lim3y =3y

R T f(x,y+h)—f(:ic,y)
fy(x7y> - }llli}’(l) h
i B2 R) £ (g + 1)*] - By + y7]
o0 h
o 3zy + 3zh + y? + 2yh + h? — 3zy — o>
~ h
. 3xh + 2yh + h?
= lim
h—0 h
. h(3z+2y+h)
= lim
h—0 h,

=lim@Bz+2y+h)=3x+2y #
h—0



